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The Question Paper contains six (06) questions.
Answer only five (05) questions.

- “alculators are allowed.

(01).

A, “Finance is one of the key functions in all kinds of economic activities in the modern economy”.
Briefly explain this statement. ' ,
. (02 Marks)
B. How should the finance function of an enterprise be organized?
_ (02 Marks)
C. Kalpana’s father has promised to give Kalpana Rs.01 million in cash on his 25% birthday. Today is his
20™ birthday and the annual interest rate is 10%.

Required:

i.  If father decides to make annual payments at the end of each year, how much will be the value
of annuity?
ii.  If father decides to make annual payments at the beginning of each year, how much will be the
value of annuity? )
iii.  If father decides to invest a lump sum in the account today and let it compound annually, how

much will the lump sum be? _ .
(03 Marks)
D. Kavindu has an opportunity of receiving following cash flows at 10% rate of interest.
Year Cash flows (Rs.)
1 100,000 at end of the year
2 1 200,000 at middle of the year
3 300,000 at beginning of the year
Required:
Calculate the present value of this cash flows stream.
(03 Marks)
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(02).

Kavisha has obtained a housing loan of Rs. 03 million from NSB for 04 years. The loan requires 10%

interest rate per annum and loan installments are payable annually.
Regquired:
Prepare the loan amortization schedule.
(04 Marks)
(Total Marks 14}
. Define working capital and distinguish between permanent and temporary working capital.
. _ (02 Marks)
Briefly explain four factors affecting the working capital needs of an organization.
(02 Marks)
The following information has been extracted from the books of Lahiru Company. (,, _
: Rs.?000
Credit sales for the year 64,800
Raw materials purchase on credit for the year 38,880
Other manufacturing cost for the year 5,760
As at 01/01/2020 | As at 31/12/ 2020
(Rs.’000) (Rs.’000)
Trade receivables (Debtors) 72000 10800
| Trade payables (Creditors) 2,880 5,760
i Raw materials inventory 8,640 10,080 ;
Work — In — Progress inventory 2,880 5,760
Finished goods inventory 12,000 12,000
Payable other manufacturing cost 1,800 1,400
Required:
If working days in a year is 360, calculate the gross operating cycle (GOC) and net operating cycle
(NOC).
) (06 Marks)
The following are the transactions of Lashantha Company for the year ended 3 1* December 2020.

Rs. million

Credit sales 1,500
Raw materials purchase on credit 600
Materials consumed 540
Manufacturing expenses 1,080
Other expenses 156
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03).

The following additional information is available.

1. The company earns a gross profit of 25% on cost.
2. Cash collection period from the customers is 01 month and suppliers given 02 months credit

period for raw materials.
3. Manufacturing and other expenses are paid 01 month in arrears.
4. The company wishes to keep one month inventory of raw materials and of finished goods.
5. The company’s expectqd cash balance is Rs. 10 million.

Required:
Calculate the working capital requirement of the company. -
' {04 Marks)
(Total Marks 14)
List four assumptions of the net operating income (NOI) approach.
' (02 Marks)
Madushanka Company is attempting to evaluate several possible capital structures given below.
Possible capital Value of debt capital | Cost of equity capital | Cost of debt capital
structure (Rs. ‘000) rate (ke - %) rate (kd -~ %)
PCS 13 54,000 11.60 04.60
PCS 14 . 72,000 12.40 05.00
PCS 15 90,000 13.50 05.60
Required:

If net operating income of Rs. 18 million, state with reasons which of the above capital structures will

you recommend?
(05 Marks)

Maheshi Company needs Rs. 200 million for construction of new factory. Corporate tax rate is 30%.
The following two financial plans are feasible.

Plan 1: The company may issue 500,000 ordinary shares at Rs. 400 per share.
Plan 2: The company may issue 250,000 ordinary shares at Rs. 400 per share and 500,000 debentures
at Rs 200 of the interest rate of 09%.

If the company’s earnings before interest and taxes (EBIT) are (a) Rs. 20 million, (b) Rs 40 million &
(¢) Rs 60 million for three possible scenarios.

Required:

i.  Calculate the earnings per share for scenarios. (a), (b} and (¢) under each of the two financial
plans.
ii.  Which plan would you recommend and why?

iii. ~ Calculate the indifference point between plan 01 and 02,
(07 Marks)
(Total Marks 14)
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(04).

A. Define cost of capital and explain its significance in financial decision making.

(03 Marks)

B. The following information has been extracted from the statement of financial position as at 315 March

2020 of the Nimesh Company.
_ Rs. million
Ordinary share capital (100 Million shares) o 4,800
Retained earnings : 1,800
20% Preference share capital (180 Million shares) ' ; 3,600
18% Debentures (30 Million debentures) 3,000 |

The ordinary shares of the company have a market value of Rs. 84.00 per share and the expected (
dividend per ordinary share is Rs. 8.40 which expected to grow at constant rate of 10%. The preference
shares of the company are irredeemable and have a market value of Rs. 40.00 per share. The 18%
debentures are redeemable at a 10% premium after 05 years. The market value of debenture is
Rs. 112.00. The Company pays tax at an annual rate of 30%.

Required:

i.  Calculate the cost of equity capital.
ii.  Calculate the cost of preference share capital.
iii.  Calculate the cost of debt capital.
iv.  Calculate the weighted average cost of capital (WACC) of the Company using matket value.

- (07 Marks)

Nimesha Company has issued 10,000 preference shares at Rs.30.00 per share. The preference share
carried a dividend of Rs. 4.00 per share. The required rate of return on preference share is 10% and
maturity period is 5 years. '

!
\

Required:
Calculate the present value of preference share capital.
' (02 Mark)

Nethsara Company has issued 5,000 debentures at 12%, Rs.100.00 per debenture. The required rate
of return on debenture is 10% and maturity period is 5 years. The debentures are payable at premium
of 10% after maturity period.

Required:

Calculate the present value of debentures.
(02 Marks)

(Total Marks 14)

Page 4 of 6



' | (11 Marks)
(Total Marks 14}
Present Value ang Future Value Factors

PVF:209, PVAF:10; PVAF;20%

0909

PVF. Present Value Factors
PVAF: Present Vapye Annuity F actors
FVF: Futyre Value F actors
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05).
A, Briefly explain Systematic angd unsystematic risk using eXamples.

(031
B. A portfolio consists of two Investments Damely “A” gpd “B” with the following information,

2. Investn;ent “A” and «B» are weighted in 609 and 40% Tespectively on the portfolio,
3. Expected fate of return of the Portfolio is 19.go;

Requireq.

L Caleulate the expected rate of Teturn of the investment “A” and “B».
ii. Calculate the risk (standard deviation) of investment “A”,
Ui If the variance of asset “B” is 0.0039 and co-varjance between assets “A” ang «g» is 0.00:

(08 Marks
. Securxty A and market M has the foIIowmg Information
L Standarg deviations of Séeurity A and market M are 36% and 429 respectively
Correlation Coetficient between Security A and market M is 0.88
Requireq.
b Caleulate the COvariance between Security A and market M,
L Calculate the Beta coefficient for security A
(03 Marks)
© (Total Marke 14)
(06)-
A. Briefly expiain the key Steps in capita] budgetmg process
(03 Marks)
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